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GOSFORD HIGH SCHOOL
MATHEMATICS
Assessment task 3: June 2010
Paper 1

Start each question on a new page

Time: 60 minutes.
Question 1. ( 2 marks each)

Find the value of the pronumeral. (no reasoning is required).
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ABCD is a thombus

ADEA is equilateral




Question 2. ( new page)

Find the value of the pronumeral giving full reasoning for your answer.
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Given PQRS is a rhombus.




Question 3 ( new page)
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Given NM is parallel to PQ
and OP = 0Q. Prove

angle NMO equals angle OQP.
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i) Show that triangle
PAX is similar to
triangle BAC.

ii) IfAX and BC are

both Scm and AP is

4em find PX and
AC,
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If O is the centre of the circle and OC

is perpendicular to AB. Prove, by use

of congruent triangles, that OC

bisects AB.
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Given HKIM is a parallelogram and
OH = HM and LN = LK.
i) Show triangle LKN is
congruent to triangle OHM.

ii) Hence show KNMO is a
parallelogram.




Question 4. ( new page)

a) If «and B are the roots of the quadratic equation x* ~3x -5 =0 find the value

of:

i) a+p

ii) apf

iy a?B+ap? ®

iv)  a’tp?
1 1
0 (ep)e-2)

b) Write a quadratic equation whose roots are:

3++/2and3-+2 Q)
c) Solve
i) x'=3x*-4=0
ii)  9-123"+27=0 (6)

d) For the quadratic equation x* —(k —4)x+3k = 0 find the value of &
if the product of the roots is twice the sum of the roots. 2)

e) Find the value of 4, B and C so that:
2x* —=Tx—4=Ax+2) +B(x+2)+C. 3)

2
. s x .
f) By using the substitution m = Pk or otherwise, solve
X+

x? 2_Jc-i—l

= 4
x+1 x? @




GOSFORD HIGH SCHOOL
MATHEMATICS
Assessment task 3: June 2010
Paper 2

Start each question on a new page

Time: 60 minutes.
Question 1.

For the points 4(0,2), B(5,4)and C(1,-1)

i) Plot their coordinates on a number plane. 2)

ii) Find the exact length of the interval joining B to C. (2)

iii)  Find the midpoint of the interval joining Ato C. 2)

iv) Find the gradient of the line passing through the points B and C. (2)

v) Show that the equation of the line passing through the points Band C (2)
is Sx~4y—-9=0.

vi) Find the x intercept of the line in part (v) (1)

vii)  Find the perpendicular distance from A to the line 5x— 4y-9=0. (2)
viii)  Find the coordinates of D, such that ABCD forms a parallelogram. (0)]
ix) Find the area of the parallelogram 4BCD. ¢}
x) If 4 is the mid point of the points C and E, find the coordinates of . (2)

xi) Find the equation of the line that passes through 4 and makes an angle (2)
of 135° with the positive direction of the x axis.



Question 2.( start a new page)

a) Find the equation of the line that passes through the point (2,3) and is 2)
parallel] to the line y=3x—4.

b) Find the equation of the line, in general form, that passes through the )
point (2,—1) and is perpendicular to the line 5x~3y+9=0.

¢) Find the equation of the line passing through the intersection of the lines whose
equations are 3x—4y—1=0 and 2x+3y—5=0 and the point (1,2). 3
Question 3, ( start a new page)
a) Show that the line 3x +4y—20=0 is a tangent to the circle x* + y* =16.(3)

b) Find the shortest distance between the lines 3x —4 y+9=0 3)
and 3x—4y—-20=0.

Question 4. ( start a new page)

a) Find the value of @ and 4 if 3+/5 — ! =a+b/5 3)
J5-2

b) Solve x? < 5x 3)

¢) Solve|x—1> 4 ()

d) Factorise a* —b* + 2bc —¢? (2)

¢) Find x and y if f—é =8 and 27 =128 (4)
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